

Kelmscott Senior High School

YEAR ELEVEN
2026



**ALL ORDERS MUST BE COMPLETED
Online at
www.campion.com.au
by
Friday 19th December 2025
Using "CGQB" as your code**

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$8.00, if placed on or before the return date of Friday 19th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	Item Reqd <input checked="" type="checkbox"/>	Qty Reqd	Unit Price \$	Total Amount \$
YEAR ELEVEN						
Please note that for some items on this Resource List, you can choose between a 'Digital Only' resource or a 'Print & Digital' bundle. These bundles include both the digital resource and a print book, and are clearly labelled as 'Print & Digital' in the Online Ordering Portal.						
Things to remember:						
<ul style="list-style-type: none"> • Digital resources are valid for 12 months unless stated otherwise. • Please choose carefully, as digital resources cannot be returned, refunded or exchanged for change of mind. 						
AGRICULTURE						
ANIMAL PRODUCTION SYSTEMS						
No special resources required.						
APPRENTICELINK						
<i>*Please refer to the 2026 Courses Booklet.</i>						
Long sleeve Navy Cotton drill shirt						
BIG PICTURE ACADEMY						
<i>*Please refer to the 2026 Courses Booklet.</i>						
No special resources required.						
ENGLISH & LOTE						
ENGLISH - ATAR						
P14402	Insight Year 11 English WA (Print & Digital) Rev [Bondin et al]	1	<input type="checkbox"/>	1	49.95	49.95
P55493	Document Wallet FC Slimpick Buff	2	<input type="checkbox"/>	1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	3	<input type="checkbox"/>	1	2.25	2.25
P54625	Highlighters Pkt 4 Assorted Basic	4	<input type="checkbox"/>	1	1.95	1.95
P55097	Lever Arch File A4 75mm Board	5	<input type="checkbox"/>	1	5.95	5.95
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	6	<input type="checkbox"/>	1	4.25	4.25
LITERATURE - ATAR						
P02915	Crucible, The (Modern Classics) [Arthur Miller]	7	<input type="checkbox"/>	1	22.99	22.99
P30589	Frankenstein (Collins Classroom Classics) [Mary Shelley]	8	<input type="checkbox"/>	1	7.95	7.95
P31864	Insight Literature for Senior Students (Print&Digital) 6E [Robert Beardwood]	9	<input type="checkbox"/>	1	49.95	49.95
P55491	Document Wallet FC Slimpick Brights	10	<input type="checkbox"/>	1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	11	<input type="checkbox"/>	1	2.25	2.25
P54625	Highlighters Pkt 4 Assorted Basic	12	<input type="checkbox"/>	1	1.95	1.95
P55097	Lever Arch File A4 75mm Board	13	<input type="checkbox"/>	1	5.95	5.95
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	14	<input type="checkbox"/>	1	4.25	4.25
ENGLISH - GENERAL						
P55493	Document Wallet FC Slimpick Buff	15	<input type="checkbox"/>	1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	16	<input type="checkbox"/>	1	2.25	2.25
P55097	Lever Arch File A4 75mm Board	17	<input type="checkbox"/>	1	5.95	5.95
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	18	<input type="checkbox"/>	1	4.25	4.25
ENGLISH - FOUNDATION						
P55493	Document Wallet FC Slimpick Buff	19	<input type="checkbox"/>	1	1.10	1.10
P50779	Exercise Book A4 48 Page 8mm with Margin #100 Spirax	20	<input type="checkbox"/>	1	1.25	1.25
P55097	Lever Arch File A4 75mm Board	21	<input type="checkbox"/>	1	5.95	5.95
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	22	<input type="checkbox"/>	1	4.25	4.25

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	<input checked="" type="checkbox"/> Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
HASS – HUMANITIES & SOCIAL SCIENCE						
MODERN HISTORY - ATAR						
P09786	Nelson Modern History AC: Germany 1918-1945 [KJ Mason (Ed. Tony Taylor)]	23	<input type="checkbox"/>	1	57.95	57.95
P09975	Nelson Modern History AC: The USA 1900-1945 [Sarah Mirams]	24	<input type="checkbox"/>	1	57.95	57.95
P55709	Dividers Index A4 5 Tab (Board)	25	<input type="checkbox"/>	2	1.10	2.20
P50694	Document Envelope A4 PP With Press Stud Red	26	<input type="checkbox"/>	2	1.25	2.50
P54625	Highlighters Pkt 4 Assorted Basic	27	<input type="checkbox"/>	1	1.95	1.95
P54142	Lecture Pad A4 7mm 140 Pages Side Opening Spirax #907	28	<input type="checkbox"/>	4	4.15	16.60
P55097	Lever Arch File A4 75mm Board	29	<input type="checkbox"/>	2	5.95	11.90
P56328	Pocket Plastic A4 11 Hole Pkt 10	30	<input type="checkbox"/>	1	1.40	1.40
POLITICS AND LAW - ATAR						
P35672	WACE P&L Democracy & Justice 1&2 Plus Companion Guide 2E [Stephen King]	31	<input type="checkbox"/>	1	97.50	97.50
P55709	Dividers Index A4 5 Tab (Board)	32	<input type="checkbox"/>	2	1.10	2.20
P51006	Document Envelope A4 PP With Press Stud Blue	33	<input type="checkbox"/>	2	1.25	2.50
P54625	Highlighters Pkt 4 Assorted Basic	34	<input type="checkbox"/>	1	1.95	1.95
P54142	Lecture Pad A4 7mm 140 Pages Side Opening Spirax #907	35	<input type="checkbox"/>	4	4.15	16.60
P55097	Lever Arch File A4 75mm Board	36	<input type="checkbox"/>	2	5.95	11.90
P56328	Pocket Plastic A4 11 Hole Pkt 10	37	<input type="checkbox"/>	1	1.40	1.40
CAREER AND ENTERPRISE						
P35444	WA Careers and Employability (CAE) General 11 [Michael Carolan]	38	<input type="checkbox"/>	1	68.50	68.50
P55709	Dividers Index A4 5 Tab (Board)	39	<input type="checkbox"/>	2	1.10	2.20
P51006	Document Envelope A4 PP With Press Stud Blue	40	<input type="checkbox"/>	2	1.25	2.50
P54625	Highlighters Pkt 4 Assorted Basic	41	<input type="checkbox"/>	1	1.95	1.95
P54142	Lecture Pad A4 7mm 140 Pages Side Opening Spirax #907	42	<input type="checkbox"/>	2	4.15	8.30
P55097	Lever Arch File A4 75mm Board	43	<input type="checkbox"/>	1	5.95	5.95
P56328	Pocket Plastic A4 11 Hole Pkt 10	44	<input type="checkbox"/>	1	1.40	1.40
P52232	Trifold Portfolio A4 Student Black - Personal	45	<input type="checkbox"/>	1	20.50	20.50
HISTORY GENERAL - MODERN						
P04623	Nelson Modern History AC: Russia & the Soviet Union [Ken Webb]	46	<input type="checkbox"/>	1	68.95	68.95
P54142	Lecture Pad A4 7mm 140 Pages Side Opening Spirax #907	47	<input type="checkbox"/>	2	4.15	8.30
P55709	Dividers Index A4 5 Tab (Board)	48	<input type="checkbox"/>	2	1.10	2.20
P50619	Document Envelope A4 PP With Press Stud Purple	49	<input type="checkbox"/>	2	1.25	2.50
P54625	Highlighters Pkt 4 Assorted Basic	50	<input type="checkbox"/>	1	1.95	1.95
P55097	Lever Arch File A4 75mm Board	51	<input type="checkbox"/>	1	5.95	5.95
P56328	Pocket Plastic A4 11 Hole Pkt 10	52	<input type="checkbox"/>	1	1.40	1.40
HISTORY GENERAL - ANCIENT						
P10396	Ancient Rome (Using Evidence) [Bradley]	53	<input type="checkbox"/>	1	77.95	77.95
P55709	Dividers Index A4 5 Tab (Board)	54	<input type="checkbox"/>	2	1.10	2.20
P50694	Document Envelope A4 PP With Press Stud Red	55	<input type="checkbox"/>	2	1.25	2.50
P54625	Highlighters Pkt 4 Assorted Basic	56	<input type="checkbox"/>	1	1.95	1.95
P54142	Lecture Pad A4 7mm 140 Pages Side Opening Spirax #907	57	<input type="checkbox"/>	2	4.15	8.30
P55097	Lever Arch File A4 75mm Board	58	<input type="checkbox"/>	2	5.95	11.90
P56328	Pocket Plastic A4 11 Hole Pkt 10	59	<input type="checkbox"/>	1	1.40	1.40
HEALTH & PHYSICAL EDUCATION						
CERTIFICATE II SPORTS & RECREATION						
<i>*Please refer to the 2026 Courses Booklet.</i>						
HEALTH STUDIES						
P07857	Health Studies: Year 11 General Pathway [Emily Lockhart]	60	<input type="checkbox"/>	1	40.00	40.00
OUTDOOR EDUCATION						
No special resources required.						
PHYSICAL EDUCATION						
1 x Physical Education Studies shirt						
*Uniforms available from Perm-A-Pleat Forrestdale						

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	<input checked="" type="checkbox"/> Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
MATHEMATICS						
MATHEMATICS APPLICATIONS - ATAR						
P33830	Nelson WAmaths Mathematics Applications Yr11 (Print&Digital) [Greg Neal et al]	61	<input type="checkbox"/>	1	93.95	93.95
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	62	<input type="checkbox"/>	1	281.95	281.95
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	63	<input type="checkbox"/>	2	2.25	4.50
MATHEMATICS METHODS - ATAR						
P11820	Maths Methods WA ATAR Unit 1 (Print & Dig) Rev. format [Sadler]	64	<input type="checkbox"/>	1	43.95	43.95
P11821	Maths Methods WA ATAR Unit 2 (Print & Dig) Rev. format [Sadler]	65	<input type="checkbox"/>	1	43.95	43.95
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	66	<input type="checkbox"/>	1	281.95	281.95
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	67	<input type="checkbox"/>	2	2.25	4.50
MATHEMATICS SPECIALIST - ATAR						
P11822	Maths Specialist WA ATAR 1&2 (Print & Dig) Rev. format [Sadler]	68	<input type="checkbox"/>	1	80.95	80.95
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	69	<input type="checkbox"/>	2	2.25	4.50
MATHEMATICS ESSENTIALS						
P03056	Nelson AC Senior Maths Essentials 11 (Print & Digital) 2E [Thomson et al]	70	<input type="checkbox"/>	1	87.95	87.95
P52000	Calculator Casio Scientific FX-82AU Plus II 2E Or any other comparable Scientific Calculator	71	<input type="checkbox"/>	1	41.95	41.95
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	72	<input type="checkbox"/>	2	2.25	4.50
MATHEMATICS FOUNDATION						
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	73	<input type="checkbox"/>	1	41.95	41.95
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	74	<input type="checkbox"/>	2	2.25	4.50
SCIENCE						
BIOLOGY - ATAR						
P08245	Biology WA ATAR 1&2 (Print & Digital) [Skirving et al]	75	<input type="checkbox"/>	1	102.95	102.95
P06575	Biozone Year 11 Biology Student Workbook [Allan]	76	<input type="checkbox"/>	1	43.95	43.95
P33204	WA Biology Yr11 ATAR Study Guide 3E [Peter Walster] <i>This is an optional textbook to assist student with study in preparation for exams. Recommend by not compulsory</i>	77	<input type="checkbox"/>	1	60.00	60.00
P51020	Calculator Sharp Scientific EL506TS Any non-programmable calculator is acceptable.	78	<input type="checkbox"/>	1	51.75	51.75
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	79	<input type="checkbox"/>	2	1.15	2.30
CHEMISTRY - ATAR						
Pearson WA Chemistry 11			Choose One			
P00433	Pearson WA Chemistry 11 (SB Print & Digital) This item contains both the physical book and a digital copy inside	80	<input type="checkbox"/>	1	103.50	103.50
E00710	Pearson WA Chemistry 11 (Digital 2Yr Access Code)	81	DIGITAL ITEM	1	61.70	61.70
E20662	Step Up In Chemistry Units 1 & 2 (Digital Access Code)	82	DIGITAL ITEM	1	59.95	59.95
P51020	Calculator Sharp Scientific EL506TS Or any other basic calculator.	83	<input type="checkbox"/>	1	51.75	51.75
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	84	<input type="checkbox"/>	2	1.15	2.30
HUMAN BIOLOGY - ATAR						
P34338	Biozone Anatomy & Physiology Student Workbook 3E [Greenwood]	85	<input type="checkbox"/>	1	48.95	48.95
P04036	Human Perspectives WA ATAR 1&2 (Print & Digital) 8E [Whan et al]	86	<input type="checkbox"/>	1	91.95	91.95
P33206	WA Human Biology Yr11 ATAR Study Guide 3E [Peter Walster] <i>This is an optional textbook to assist student with study in preparation for exams. Recommend by not compulsory</i>	87	<input type="checkbox"/>	1	60.00	60.00
P51020	Calculator Sharp Scientific EL506TS Or any other basic calculator.	88	<input type="checkbox"/>	1	51.75	51.75
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	89	<input type="checkbox"/>	2	1.15	2.30

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
PHYSICS - ATAR						
Pearson WA Physics 11 2E		Choose One				
P35628	Pearson WA Physics 11 (SB Print & Digital) 2E	90	<input type="checkbox"/>	1	99.95	99.95
-OR -						
E35628	Pearson WA Physics 11 (Digital 2Yr Access Code) 2E Digital product available via access code	91	DIGITAL ITEM	1	63.95	63.95
E00337	Step Up In Physics Units 1&2 (Digital Access Code) (Recommended but not essential)	92	DIGITAL ITEM	1	59.95	59.95
P51020	Calculator Sharp Scientific EL506TS Or any other basic calculator.	93	<input type="checkbox"/>	1	51.75	51.75
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	94	<input type="checkbox"/>	2	1.15	2.30
PSYCHOLOGY - ATAR						
P35621	WA Psychology Yr11 ATAR Textbook [Sonya Cerny]	95	<input type="checkbox"/>	1	87.50	87.50
P51020	Calculator Sharp Scientific EL506TS Or any other basic calculator.	96	<input type="checkbox"/>	1	51.75	51.75
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	97	<input type="checkbox"/>	2	1.15	2.30
HUMAN BIOLOGY - GENERAL						
P51020	Calculator Sharp Scientific EL506TS Or any other basic calculator.	98	<input type="checkbox"/>	1	51.75	51.75
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	99	<input type="checkbox"/>	2	1.15	2.30
PSYCHOLOGY - GENERAL						
P51020	Calculator Sharp Scientific EL506TS Or any other basic calculator	100	<input type="checkbox"/>	1	51.75	51.75
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	101	<input type="checkbox"/>	2	1.15	2.30
TECHNOLOGIES						
ACCOUNTING & FINANCE - ATAR						
P13350	WA ATAR Accounting 1 2E [Ashley Doyle]	102	<input type="checkbox"/>	1	85.90	85.90
P15079	WA ATAR Accounting 2 2E [Ashley Doyle]	103	<input type="checkbox"/>	1	85.90	85.90
CERTIFICATE II HOSPITALITY						
<i>*Please refer to the 2026 Courses Booklet.</i>						
No special resources required.						
CERTIFICATE II WORKPLACE SKILLS						
<i>*Please refer to the 2026 Courses Booklet.</i>						
No special resources required.						
CERTIFICATE III INFORMATION TECHNOLOGY						
<i>*Please refer to the 2026 Courses Booklet.</i>						
No special resources required.						
CHILDREN, FAMILY & THE COMMUNITY						
No special resources required.						
FOOD SCIENCE & TECHNOLOGY						
No special resources required.						
MATERIALS DESIGN & TECHNOLOGY - METAL						
Long sleeve navy cotton drill shirt.						
MATERIALS DESIGN & TECHNOLOGY - WOOD						
Long sleeve navy cotton drill shirt.						
THE ARTS						
CERTIFICATE III IN MUSIC						
<i>*Please refer to the 2026 Courses Booklet.</i>						
P51006	Document Envelope A4 PP With Press Stud Blue	104	<input type="checkbox"/>	1	1.25	1.25
P55924	Music & Theory Book 152 x 248mm 18 leaf/36 pages Spirax #569	105	<input type="checkbox"/>	1	3.20	3.20
P56166	Pencil (HB) Copperplate	106	<input type="checkbox"/>	4	0.55	2.20

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	<input checked="" type="checkbox"/> Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	CERTIFICATE II IN VISUAL ARTS					
P50664	Document Wallet A3 Slimpick Blue	107	<input type="checkbox"/>	1	3.25	3.25
P55522	Eraser Plastic Pencil Economy in sleeve	108	<input type="checkbox"/>	1	0.70	0.70
P56081	Marker Artline #200 Black 0.4mm	109	<input type="checkbox"/>	1	3.95	3.95
P52001	Pencil (2B) Goldfaber	110	<input type="checkbox"/>	2	0.70	1.40
P52013	Pencil (4B) Goldfaber	111	<input type="checkbox"/>	2	0.70	1.40
P52014	Pencil (6B) Goldfaber	112	<input type="checkbox"/>	2	0.70	1.40

DESIGN - GRAPHICS

No special resources required.

DESIGN - PHOTOGRAPHY

No special resources required.

DRAMA

No special resources required.

MEDIA PRODUCTIONS

No special resources required.

VISUAL ARTS

P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	113	<input type="checkbox"/>	1	9.55	9.55
P55522	Eraser Plastic Pencil Economy in sleeve	114	<input type="checkbox"/>	1	0.70	0.70
P56081	Marker Artline #200 Black 0.4mm	115	<input type="checkbox"/>	1	3.95	3.95
P52001	Pencil (2B) Goldfaber	116	<input type="checkbox"/>	2	0.70	1.40
P52013	Pencil (4B) Goldfaber	117	<input type="checkbox"/>	1	0.70	0.70
P52014	Pencil (6B) Goldfaber	118	<input type="checkbox"/>	1	0.70	0.70

WORKPLACE LEARNING

No special resources required.

GENERAL STATIONERY REQUIREMENTS

BRING YOUR OWN DEVICE (BYOD) PROGRAM

Please refer to our school website for more information regarding the Bring Your Own Device (BYOD) Program.

Students require compatible headphones for their device.

OPTIONAL EXTRA

P52086	USB Pocket Flash Drive 32GB - NO RETURNS	119	<input type="checkbox"/>	1	14.05	14.05
--------	--	-----	--------------------------	---	-------	-------

Number of Boxes ticked:

Postage (Home delivery only)

\$8.00

ESTIMATED AMOUNT DUE

(PRICES CORRECT AT 11/11/25)

\$